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Question Number : 1 Question Id : 544734321 Display Question Number : Yes Is Question
Mandatory : No

f(x) =sinx+cosx.glx) = % — 1 then g(f (h.)) is invertible if

f(x) =sinx +cosx . g(x) = x* — 1 3 Botd HA0aITeN 9(f(x)) & DS S0

b5bfaejc ST 00l)
i

Options :
—E I
ik E
1.+ 4 -+
——x =l
2. % 2

Question Number : 2 Question Id : 544734322 Display Question Number : Yes Is Question
Mandatory : No
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If f:2 - zis defined by £(x) =« — 11x® = 2" 42225 + x* 120 + 1% 4 1 -
3 Vx €z then f(11) =

fiz -z Hvabaw f(x) =2’ - 11x° = 20" + 228 + 1 - 128 + 1P + 1 -3 Vx €2
™ ABWR By f(11) =
Options:

1.% 7

2. &

4, %

Question Number : 3 Question Id : 544734323 Display Question Number : Yes Is Question
Mandatory : No

Let f(x) = x° and g(x) = 3" . then the quadratic equation whose roots are solutions of the

equation (fog)(x) = (gof)(x) (forx #0)1s

(x) = x° &bodw g(x) = 3" Tty HHoasren (x = 0) wod, (fog)(x) = (gof)(x)
FE00 AAFeFOITTHY agmhagcem

Options :

- x> —6x+3=0

, % X —6x+9=0

x —x+3=0
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Question Number : 4 Question Id : 544734324 Display Question Number : Yes Is Question
Mandatory : No

1 -5 7
The trace of thematrix 4 =| 0 7 9]is
11 8 9
1 -5 7
A=10 7 9|ed3rgds dws), &6 Jod?
11 8 9
Options :
1.v 17
, % 25
3. % 3
4. % 1z

Question Number : 5 Question Id : 544734325 Display Question Number : Yes Is Question
Mandatory : No

If 4,B,C are the angles of a triangle then the system of equations —x 4 y cosC +

zcosB=0. xcosC—y+zcosA=0, xcosB+ycosd—z=0

A,B,C 822 Seroond —x + ycosC +zcosB=0. xcosC—y+zcosd = 0.
xcosB+ycosAd—z=0ed PVE0E ::5;3"%353
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Options :
only zero solution
BTR] FOD JrBD0 Sotnod

a non-zero solution for all triangles AABC

|, 298208 ABC £ 37986 IS Gotod

only zero solution but for certain values of A, B, C
§) ABC Dended 3l e 2@ Gotnod

a non-zero solution if AABC 1s an equilateral triangle & not for all triangles

v QEDAN ABC DI GEBH00IP) Argd $0Biae F G &otobd

Question Number : 6 Question Id : 544734326 Display Question Number : Yes Is Question
Mandatory : No

-1
I 1 —tant 1 tan ¢ | =b i
tan @ 1 —tanf 1 b a |TM

—1

] —tan 1 tan & e =b 3
tan & 1 —tan 1 1b T
Options :
| % @= 1,8 =1

a =sin268,b = cos 26

3 » @ =cos 28,b = sin 26

4.%(1:0,.5:{)
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Question Number : 7 Question Id : 544734327 Display Question Number : Yes Is Question
Mandatory : No

—2; 14

Zy I3 ||Z1 —Z
~Z; L1 ||Z ;|

—% 7 =
IfZ,=2+3i, Z, =3+ 2iwherei =1 then[ “ ZZ\ [ 1 2 ] _

Zy=2+3i.2,=3+2i(i =vV-1 ) oond

Options :
1. % 131

3 v 261

Zero matrix

(%w;{a?g AT°e3s)
4, % =

Question Number : 8 Question Id : 544734328 Display Question Number : Yes Is Question
Mandatory : No

a b c
What is the valueof la—b b—¢c c—al =7

b+c c+a a+b

a b &

a—b b—CtFﬂIﬁgﬁ@@mb%é?
b+e¢ c+a a+b

Options:
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. a3+b3+g3+3ﬂbf

3 3 3
Z.Jcl +b™ + ¢ — 3abe

3 % a®+ b3+ —6abe

4 % a® + b3+ 2 + 6abe

Question Number : 9 Question Id : 544734329 Display Question Number : Yes Is Question
Mandatory : No

The radius of the circle represented by (1 4+ i)(1 4 3)(1+ 7i) = x +ivis (i = Vy-1)
(L+)(1+30)(1+70) = x +iy (i = V=1) %rdodd )3 TR

Options :
1000

5 10v10

5 % 10000

4 % 100

Question Number : 10 Question Id : 544734330 Display Question Number : Yes Is Question
Mandatory : No
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If 1,00, 5, X3, %4 are the roots of z° — 1 = 0 and w is a cube root of units then

(w— 1w —0oty) (w—%) (w —0%3) (w —¢,) + w is equal to

22— 1=00deernd 1 Xy, 0, X3, Xy 0 PG . o 0 1 0Ig), DINFOS

(@ = 1)(w =) (=) (@ —0) (@ —o,) + w Jed

Options:

1.330

Question Number : 11 Question Id : 544734331 Display Question Number : Yes Is Question

Mandatory : No

Ifa>0andz=x+iy.thenlog z4lz — al >log.zqlz —ail, (6 €R) mplies

]

a>0,0 ER &obodw z=x+1iy, x,y €ER wowd, log, 251z —al > log ,24lz —ai

oS & S08 T8 DO Judw
Options :

L@ X>Y

) % XY

3 % x+y=cosf

4 % Xty<0
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Question Number : 12 Question Id : 544734332 Display Question Number : Yes Is Question
Mandatory : No

If one root of the equation it - 20+ Dx+(2—1) =015 (2 — ). then the other root is

ixt =20+ D+ (2 =10) = 0 093 HDEGETAS 2,8 Aorwdw (2 — 1) eond. Bokd
Srodn D87

Options:

1.¢ 1

> % 2+1i

Question Number : 13 Question Id : 544734333 Display Question Number : Yes Is Question
Mandatory : No

If o and § are the roofs of the quadratic equation x* + x 4 1 = 0, then the equation whose

2021 2021 .
B

roots are a is given by

¥4+ 1 =0 HSETERs @ 2Bako f e Arergd, ¢, 7 swrerorriv
2E6eA0 DA?
Options:

> —x4+1=0

5 % *+x—1=0
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Question Number : 14 Question Id : 544734334 Display Question Number : Yes Is Question
Mandatory : No

4o d
If2,1,1 are roots of the equation x® — 4x% + 5x — 2 = 0, then the roots of [x + é) =

4 (x+%)2+5 (.1‘+%)—2:0

3 2
- + 51— 2= 0 doseerdd Soreren 2,1 T oawd, (1+7) —4 (v+3) +

5 (x +%] _ 2= 0 $Eers sarerey
Options:

' !

L.uln-lh

4
3

w | ~1

Question Number : 15 Question Id : 544734335 Display Question Number : Yes Is Question
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Mandatory : No
If f(x) = 2x% + mx® — 13x +n and 2,3 are the roots of the equation f(x) = 0 then the

values of m and n are

f) =2 +ma* - 13x+n=0 2drrdd 2,3 2rergd, m 8ako n © Jewde
Q0N

Options :

. % =5, —30

5 » =5,30

5 % 5 30

Question Number : 16 Question Id : 544734336 Display Question Number : Yes Is Question
Mandatory : No

The value of 6P4 + 4, 6P3 18

°P, +4.°P, Dend dost?

Options:

|« 5040

, % 2520

5 v 840
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720

Question Number : 17 Question Id : 544734337 Display Question Number : Yes Is Question
Mandatory : No

The number of ways in which 3 boys and 2 girls can sit on a bench so that no two boys are
adjacent 1s

A RED TP %) 8D T 3 HE) EPLIBRD, AEE erd0R 28 20D Ay
D0 grm[)om%gbmﬁm?

Options :
6

1. %

Question Number : 18 Question Id : 544734338 Display Question Number : Yes Is Question
Mandatory : No

In how many ways can 5 balls be placed in 4 tins if any number of balls can be placed in any tin?

4 Gery0d’, 5 odoudy 3 Gy, A) 0BT Gkt ID) DAY B30, foN?

Options :
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Question Number : 19 Question Id : 544734339 Display Question Number : Yes Is Question
Mandatory : No

e = -~ C  then 44 + 2B + 4C
(x+1)% (x+3) x+1 * (x+1)>2 R L

Given

ox A g 2 g & 3 44 + 2B + 4C
e €200 s
(x+1)?% (x+3) x+1  (x+1)2  x+3

Options:

1.% 9

Question Number : 20 Question Id : 544734340 Display Question Number : Yes Is Question
Mandatory : No
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=}

; 1
What is the value of cos (22 ?) =

CoS (22 %) QRS

Options :

Question Number : 21 Question Id : 544734341 Display Question Number : Yes Is Question
Mandatory : No

3 , -3 , . .
If cosfl = — \E and sin @ = o where ‘6" does not lie in the third quadrant. then the value

Ztana + 3 tanf

0 1s equal to
cot?f + cosa 1

-3
B ) rES Foane’ ddy baty cosh = — E, sin@ = o oA

2tana +3tanf

cot? 6 + cosa

Options :
7

1% 22
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Question Number : 22 Question Id : 544734342 Display Question Number : Yes Is Question
Mandatory : No

tana+tany sin Za+sin 2y
If tanff = then : : =
l+tana tany 1+smmZasinly
tan a+tany sin2a+sin2y _
tanff = e9000D . - =
l+tana tany 1+sinZasin 2y
Options :
1@ sin2f
, COS 2
3 % tan 2f
4% sec 25

Question Number : 23 Question Id : 544734343 Display Question Number : Yes Is Question
Mandatory : No
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m

It sin ( n

cot 6’) —\CD5 (E tan 5’). then 8 =

sin (% Cﬂtﬁ) = oS (%tan 8) 00® 0 =

Options :

T
Zrm-i-:
1. %

T
2nw-t+—
2. % ?

T
2nm — —
3. % 4

nmw—+ —
4

Question Number : 24 Question Id : 544734344 Display Question Number : Yes Is Question
Mandatory : No

If x =sin(2Tan"12),y = cos(2Tan™*3),z = sec(3Tan™1 4) then
x =sin(2Tan"12),y = cos(2Tan"13),z = sec(3 Tan 1 4) esod

Options :
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oA iy il o 2

Question Number : 25 Question Id : 544734345 Display Question Number : Yes Is Question
Mandatory : No

In AABC, medians AD and BE are drawn. If AD = 4,£DAB = % and ZABE = % then the
area of AABC 13

ABC dghaswe’ AD, BE e 06D Gapen s0bodn AD = 4,£DAB :%, LABE :%
BoR ABC GZba dFuiaw

Options :

8 -
— sq.units
3 q

16 _
— 5q. units
m_—

32 |
— $q. units
3. v 3V3

64 :
—— sq. units
3 q

Question Number : 26 Question Id : 544734346 Display Question Number : Yes Is Question
Mandatory : No
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{12 bz 2
InaAABC. 2A%= ————— then the triangle is
T 18
a’b?c?
DB ABC Hzhaine” 2A%= IR €3 HZDBAW
= AR e =
Options:
Equilateral
1 % RISDDETPETN) 323022200

Isosceles

RGN HZO2D0
2. ®

Right angled

5 o 208 e Q230

Acute angled triangle
oo S Gzadw

Question Number : 27 Question Id : 544734347 Display Question Number : Yes Is Question
Mandatory : No

The sides of a triangle inscribed i a given circle subtend angles «, f, y at the center. The
minimum value of the A M. of cos (a‘ £ %),cos (ﬁ 2 g) and cos (‘}-f + g) is equal to
28 HyBH08" WodBotdec.d GRAY) e So@aw 56 @, B,y Eeren BT 0.
BN cos (::r + %) . C0S (ﬁ - %) ,COS (}/ + g) (3) aosmqg S:JT.& 2eDD

Options :

"\-"rg
2

1. %
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3. % V¥

4. %

Question Number : 28 Question Id : 544734348 Display Question Number : Yes Is Question
Mandatory : No

The position vectors of the points ‘A" and ‘B” with respect to ‘0" are2 1 +2 j + k and
27 +4] +4%. The length of the internal bisector of ZBOA of A A0B is (take

proportionality Constant 1s 2 )

0 Do) g 4,B 4 e S60%m 2 T+H27 +hoodosw2i+47 +4k% .
@ AOB Qz0a306° ZB0A ©od6S e RO(DOGA 0 TEY)
(R8" 3RS HTroso 2 I SE)

Options :

2. &
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Question Number : 29 Question Id : 544734349 Display Question Number : Yes Is Question
Mandatory : No

Letu=2i+3j+kv=-3i+2jandw =i —j + 4k. Then which of the followmg
statement 1 true?
w=2i43j+k v=-3i+2j,w=1i—]+4k 0and, & dod DOFGIVS’ DB Jaaw
Options :

u 1s perpendicular to v but not w

Lo BB U VobBE TD W 0

v 1s perpendicular to w but not u

L i URBED W 0owdE T v W

w 1s perpendicular to u but not v

L W ROF U 0oeRBs 5 v T
u is perpendicular to both v and w

4 % U AGF v 000 w L5 LoRSTT Gotod

Question Number : 30 Question Id : 544734350 Display Question Number : Yes Is Question
Mandatory : No

w5 ¥y=Z2 Z1 ¥-2 y-3 22 5

If the lines = = = are coplanar. then Sin™*(sin4) +
2 3 A 3 2 3

Cos (cosA) =

X3 y=2 71 X 3 2
= — S0b0i — = — = — B &8 SVANE'IDS el D
2 3 A 3 2 3 s
Sin~*(sin 1) + Cos*(cos 2) =

AP EAPCET 2021
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Options :

8 —2m

2.8 6T

3 3m— 8

4 % 47 — 8

Question Number : 31 Question Id : 544734351 Display Question Number : Yes Is Question

Mandatory : No

IF @ =131,1,00, b= (1,1,1). then unit vector in the plane of @ and b and perpendicular to @ i

T=(L10).0 =(1,1,1) 0ond. 7,0 & $050e GotaP T & Lot ol HrIE 6%

Options :
(0,1,0)

5« (L,-1,0

3.«'«/’Eé

% (LOD)

Question Number : 32 Question Id : 544734352 Display Question Number : Yes Is Question

Mandatory : No
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The line passing through (1,1, —1) and parallel to the vector i+ 2? — J meats the line

X-3 yt2 22
5 at A and the plane 2x —y + 22+ 7 =0at B. Then 4B =

, 4 = E x=3
(1,1,-1) Dot o Tar | +2) — k HB3D DATeBEI0T &of 5 Y =
PEE _E=2

= 800436, 2x-y+22+7=080) B 36 &8 4B =
5 —4 @ )

Options :

Question Number : 33 Question Id : 544734353 Display Question Number : Yes Is Question
Mandatory : No

Leta = i and b = . the point of intersection of the lines 7" X @ = h X @ and 7 X b =

a Xb is

—

T=1%0080b =] @wd. T XA =b X7 80T Xbh =a X b o3 690 Dok
Do) 98?7

Options :
1 ¢ o= E e )
5 % Bl J
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|
I
et

Question Number : 34 Question Id : 544734354 Display Question Number : Yes Is Question
Mandatory : No

The mean deviation from the mean of the set of observations —1,0, 4 1s
—1,0, 4 HBI0S0 (mcﬁémm Aow) S0E DRODAD =
Options :

3

Question Number : 35 Question Id : 544734355 Display Question Number : Yes Is Question
Mandatory : No

Let an angle of a friangle 15 60°. If the variance of the angles of the triangle 1s 1014°. then the
other two angles are

28 Gzhadnd’ g Snaw 60°, dzbasndve Dyd 1014° eond D o §ndww J8)?

Options :
23° and 97°
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5 % 22° and 98°

3 @ 21° and 99

4 % 20° and 100°

Question Number : 36 Question Id : 544734356 Display Question Number : Yes Is Question
Mandatory : No

One card 1s selected at random from 27 cards numbered form 1 to 27. What 1s the probability

that the number on the card is even or divisible by 5.

1 o€, 27 o200 TR SOV QIR ST 28 TR SUIYYD, & TWD
:ﬁb ’@omlg 0 ‘rboaaﬁ?.?.) I 58 arfoded 'r@O&,JiS @0335 fooe;“bée:& Jodh?
Options :

15

| % 27

Question Number : 37 Question Id : 544734357 Display Question Number : Yes Is Question
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Mandatory : No

Nine balls one drawn simultaneously from a bad containing 5 white and 7 black balls. The
probability of drawing 3 white and 6 black balls 1s

5 B0 28050 7 M0 Lothor (i Vol ot 28 BES 9 eoedor SRV, 3 BV
208050 6 DY LB TIEAS VoS

Options :

L

3
#
C'El

1. %

Question Number : 38 Question Id : 544734358 Display Question Number : Yes Is Question
Mandatory : No

4 3
The probabilities that A and B speak truth are T and ¥y respectively. The probability that they

contradict each other when asked to speak on a fact 1s

4 3
A 208080 B e Qzsdn rrats) Rograiden Sdom — ddain X 9008, WS TR
D000 TOGM D00e ng}m}w STEPCIRE) VoFTD Jodd?

Options:

1. %
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Question Number : 39 Question Id : 544734359 Display Question Number : Yes Is Question
Mandatory : No

The mean and variance of a binonual variable X are 2 and 1 respectively. The probability that

X takes values greater than 1 1s

28 8GO0 BT X 2365080 B0k DRG0 SERIT 2 Sodakw 1 wowdd 288 837
Uy DS SROSD) Py oS

Options:
0

o 16

8
, % 16

s Bl

3 ¢ 16
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Question Number : 40 Question Id : 544734360 Display Question Number : Yes Is Question
Mandatory : No

For the random variable X with probability distribution is given by the table

X =X 0 1 2
P(X =x) K 1 2K

The mean of X 15

28 aire) 3¢ BoTrd X @ws) Rogr QB & Sod :Jg;ﬁseﬁ‘ ra:asmdé&.

X=x 0 1 2
P(X = x) K 1 2K

X ados), mééméln Jodh?

Options :
31

x 35

57
35

63
35

67
35
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Question Number : 41 Question Id : 544734361 Display Question Number : Yes Is Question
Mandatory : No

The locus of a point which is at a distance of 4 units from (3,—2) in xy-plane is

xy-0008" (3,-2) Do 4 rDe Aro0e’ o oo TS Dotrdesan:

Options:

- X2+ y24+6x—4v+16=0
.2 o 3 _ A =i

2'53.1 +y 6x —4y+3 =0
2 2 _ . —

3.33_1 +3 6x +4y—16=0

2 B N
4w X + ¥ 6x +4y—3=0

Question Number : 42 Question Id : 544734362 Display Question Number : Yes Is Question
Mandatory : No

When the axes are rotated through an angle 45°. the new coordinates of a point P are (1,—1)
The coordinates of P in the original system are

45° Eod 0T o BAJYYE P Doddiy) aog), §¢ Adrase (1,-1) waws,
Are ;3555“%}6‘ P aiog), Ardse

Options :

- (V2 ,42)

2. (‘E:{])
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5, % (V2.0)

Question Number : 43 Question Id : 544734363 Display Question Number : Yes Is Question
Mandatory : No

Find the equation of a straight line passing through (-5, 6) and cutting off equal intercepts on

the co-ordinate axes.

(=5 ,6) Dotdd) Mot Vdr. EFISTTVS DAFD TEHW (10 VoBdEVrTV 688
26969 PEDEGEA

Options:

1 % 6X— 5y =30
5 % X—V= ==
3 % x+y=11
4o iFy= 3

Question Number : 44 Question Id : 544734364 Display Question Number : Yes Is Question
Mandatory : No

Line has slope m and y mtercept 4. The distance between the origin and the line 15 equal to
V ©od0 Dotan 4 208030 Tew m T 5DAR T8 Sredetidsy) Aod (Y EPEAD

Options :
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4m

Vvm2+1

Question Number : 45 Question Id : 544734365 Display Question Number : Yes Is Question

Mandatory : No

The equation of the base of an equilateral triangle is x + y = 2 and one vertex is (2, —1), then

the length of the side of the triangle 15

248 DR Gzard3 B X+ y = 2, 2Bk w8 60 (2,-1) 000 o
Fedy

Options :

'II 3!2;‘ 1..-"; 2 I,l'II 3
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Question Number : 46 Question Id : 544734366 Display Question Number : Yes Is Question
Mandatory : No

The equation of a straight line which passes through the point (a cos® 6, asin® 8) and

perpendicular to (xsecf + ycscf) = a is

(xsec + yesch) = a B vordwre dotxr (a cos® 8, asin’ §) Doty Mot Fad B
SHUERIY

Options :

x ¥
—+?=ncmsﬁ
1.% @

) xcosf —ysinf = acos 28

3 % xcosf + ysinf = acos 28

4 % xcosf +ysinf@ —acos20 =1

Question Number : 47 Question Id : 544734367 Display Question Number : Yes Is Question
Mandatory : No

The acute angle between lines 6x% + 11xy — 10y? = 0 is
6x? + 11xy — 10y? = 0 2ot Ba00 B¢ (v LTI

Options :

Tan1 ( 361)

/1361
Tan™1 (x )
2
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9 ( 361 )
Tan
2
Tan ™1 ( a8l )
4

Question Number : 48 Question Id : 544734368 Display Question Number : Yes Is Question
Mandatory : No

If the lines, joining the origin o the points of intersection of the curve 2x? — 2xy + 3y% + 2x —

v —1=0and the line x + 2y = k. are at right angles. then k* equals

20° = 2y +3y° + 20—y~ 1= 0 Barowmd) « +2y = k 0082 ocold Pocid
Dot Sredotidis LD J6yG Gaed wSTRSEE votor otd. k* Devd

Options:
4

1. %

Question Number : 49 Question Id : 544734369 Display Question Number : Yes Is Question
Mandatory : No
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The equation of bisectors of the angle between the lines represented by 3x? — 5xy + 4y% = 01
3% — Sy + 4y = 0 2asoma Hrdoid G290 306 § DAGR0E0HY DebsonaY
Options:

% X +6y°—2x=0

5(1’2 — yz) = 2XY

2.¥
-2 ;— e —
_— 3= Zaeyr—y 0
Sx+xy+4y: =0
4, %

Question Number : 50 Question Id : 544734370 Display Question Number : Yes Is Question
Mandatory : No

If the bisectors of the pair of lines x* — 2muxy — y* = 0 is represented by x* — 2nxy — y% =
0. then

x? = 2mxy — y* = 0 Srosr) A ardod v 306 STrod 2ARetd B VoY

S0 Aedg0mA0 1% - 2nxy - 7 = 0 000, HN@

Options :
1 @ Mn ¥l =1
;> ¢ mn—1=0

3 % m+n=2=0
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m—n=2~0

Question Number : 51 Question Id : 544734371 Display Question Number : Yes Is Question
Mandatory : No

Find the equation of the circle which passes through origin and cuts off the imtercepts —2 and 3
over the x and y axes respectively,

2rufota) Mot TAF, 1. y OTUP SGRT —2 L0 3 LoBEPTLRL J6\GE 8
RO

Options :

2 2 ; i
1 %X e o e T ke
- 2(x*+v*)+2x—-3y=0

x24+y2—2x—8y =0

3. %

-2 .'2 rEsiy | Ferrees
4.@!_1 + 97+ 2—=3pyp=10

Question Number : 52 Question Id : 544734372 Display Question Number : Yes Is Question
Mandatory : No

The angle between the pair of tangents drawn from (1, 1) to the circle x2 + v +4x + 4y —
1=01s

(1,1) Dockoa) 0l 1% +y7 +4x +4y — 1 = 0 3,578 A 2,600 Socs| Eracto

Options :
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Question Number : 53 Question Id : 544734373 Display Question Number : Yes Is Question
Mandatory : No

If the circle x? + y% — 4x — 8y — 5 = 0 intersects the line 3x — 4y —m = 0 in two distinct
points. then the number of mtegral values of ‘m’ 1s

X2+ y? —dx — 8y — 5= 0 3080 3x — 4y — m = 0 D60 Botd Qeﬁél Dot o
DolotiE) M’ 8 A) T8 DLV éuqsrgmy?

Options :
1 % 52

5 % 21

5 % 50

4.v 49
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Question Number : 54 Question Id : 544734374 Display Question Number : Yes Is Question
Mandatory : No

Let C be the circle with center (0,0) and radius 3 units. The equation of the locus of the mid

(o : n . .
points of the choids of the circle ¢ that subtends an angle of 0 at its center s

2
(0,0) Sogawrrar, 3 msﬁgnmm o C &3 3308 Soddn 3¢ ?E g ) D608
&{R 06 2otiadw HotdcEan

Options :
1
"iz‘l‘}-'z :I
1. %
27
12‘5‘}’2_?
2. %
9
XE‘E-_YE :T
3. ¥
5
2 22
X 1
4, =

Question Number : 55 Question Id : 544734375 Display Question Number : Yes Is Question
Mandatory : No

The length of the common chord of the circles x% + y® 4 3x + 5y +4 = 0 and x* + y* +
Sx+3y+4=01s units

3%+ 30+ 5y +4=0 2800 1 +y 45+ 3y +4 =0 o eé @) TeY
VNI

Options :

1% 3
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Question Number : 56 Question Id : 544734376 Display Question Number : Yes Is Question
Mandatory : No

Find the equation of the circle which passes through the point (1, 2) and the points of

mtersection of the circles x* + y* — 8x — 6y + 21 = 0 and x* + y* - 2x — 15 = 0,

(1,2) Dotd oo, x2 + y2 — Bx — 6y + 21 = 0 2080k x> + y2 — 2x - 15 = 0 0
Dot Dot Mot T'ah 395w PEGHID

Options :

x24y2 —18x— 12y +27=0

1. %

- 2(x? +vy?) —18x — 12y +27 =0

e W Tt _
3'\/3{_.‘: +y4) —18x —12y+ 27 =0

. 4(x% +y%) —18x — 12y +27 =0

Question Number : 57 Question Id : 544734377 Display Question Number : Yes Is Question
Mandatory : No
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The coordinates of the focus of the parabola described parametrically by x = 5t + 2,y =

10t 4 4 (where t 1s a parameter) are

t HTSS" HTrA00D DTS PAEGHAW 1 = 5t2 42,y = 10t + 4 NS, & T

Options:

L

NEr)

3. % (3,—4)

Question Number : 58 Question Id : 544734378 Display Question Number : Yes Is Question
Mandatory : No

2 2 2
. — e 3 ; i
Iftand, ,tand, = = then the chord joining 2 points &, and 8, one the ellipse YT 1

will subtend a right angle at

—a? Ll
tanf, ,tanf, = T By — 45 =1 03 08 33309 ffo 6; 080K 6, Do
SRR Dot 3¢ /2 Eradns A6y6R08

Options :

Focus

18 D

Center

Sogad
2. i
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end of major axis

L o T8 D36 Do)

end of minor axis
4w ;_335“553’9_} 06 Do)

Question Number : 59 Question Id : 544734379 Display Question Number : Yes Is Question
Mandatory : No

If one focus of a hyperbola is (3, 0). the equation of its directrix is 4x — 3y — 3 = 0 and ifs

4 3 : : ;
eccentricity e = P then the co-ordinates of its vertex is

2,8 VADTIV0HY w8 T4 (3,0). obed 2eDE6EAD 4x — 3y —3 =0 0bodw

5
&8 000 e = — oond. o) 3G AArdsT

Options:

(3 11)
5 '8

1. %
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Question Number : 60 Question Id : 544734380 Display Question Number : Yes Is Question
Mandatory : No

If the vertices of the triangles are (1,2,3),(2,3,1). (3,1,2) andif H, G. S and ]

respectively denote its orthocenter. centroid. circumcenter and incenter, then H + ¢ + 541 =

(1,2,3).(2,3,1),(3,1,2) Dotoden 28 Szba) %‘g‘*w oy, I1. G. 5 20k [ ew
ST T°R) Vot)S0@An, So@arndn. DBSE Sodn 0050 Wodd Somrwa) AFLN.
H+G+S5+1=

Options :

(2,2,2)

1. %

, o (4,4,9)

.« (6,6,6)

, v (8,8,8)

Question Number : 61 Question Id : 544734381 Display Question Number : Yes Is Question
Mandatory : No

A(2,3,4),B(4,5,7),C(2,-6,3),D(4,—4,k) are four points. If the line AB is parallel to CD,
then & 15 equal to

A(2,3,4),B(4,5,7),C(2,-6,3),D(4,—4,k) &3 mreubd Dotddyen eom w6v¥8 AR
26%8D CD § DIFeB6AVTT &ob k Dend

Options :
2

1. %
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Question Number : 62 Question Id : 544734382 Display Question Number : Yes Is Question
Mandatory : No

S ; : 2 2 1 5 12

If the direction cosines of two lines are {(— ,— ,—) and (— =
3 33 13 13

direction ratios of a line which 1s bisecting one of the angle between them.

,0). then identify the

2 2 1 i
(? = ,?) 208080 {E /75 +0) Dot 2069 Bave) 65 € pitoun w3, & G 206

Ser) EnvdnBeta 5% Spud’ 2.8 8 ang) B Vo §o8 TS’ MBA.

Options:
- (40,60,13)

, o (41,60,10)
(41,62,13)
3. v

4w $1.2.3)

Question Number : 63 Question Id : 544734383 Display Question Number : Yes Is Question
Mandatory : No
n(2n +1)2

lim - : o
n—ow (4 2)(n?+3n—-1)
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Options :
0

4 % @

Question Number : 64 Question Id : 544734384 Display Question Number : Yes Is Question
Mandatory : No

If the function f(x). defined below, is continuous on the interval [0, 8], then

So6 DT i)cﬁsaobmdé f(x) Hoasaw [0, 8] eoddand’ @ma:)lmwa. (Z8)Ted)

tax+bh, 0sx<2
fl)=4 8xt2 ; 12xzd
2ax+5h |, 4<x <8

Options :

1.\_‘/&.:3,5:—2

Question Number : 65 Question Id : 544734385 Display Question Number : Yes Is Question
AP EAPCET 2021
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Mandatory : No

If f(x). defined below. is continuous at x = 4, then

x=4 ;‘.}cg Sodd Arwewd f(x) u:}a‘ba;@a

“’.1’—4+ _
TE= T
f&) =9 a+b R
x —4 ) -
k!X—4~|+ .

Options :
1 % a=0 & b=1

2. %
323&:—1&.5:1
4\:/(?:1 & =1

Question Number : 66 Question Id : 544734386 Display Question Number : Yes Is Question
Mandatory : No

If f(x) =2x%+ 3x — 5, then the value of f'(0) + 3f'(—1) is equal to
f(x) =2x% +3x — 5 w08, f'(0) + 3f'(—1) densd

Options :

1.331
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Question Number : 67 Question Id : 544734387 Display Question Number : Yes Is Question
Mandatory : No

1 2 3 n dy
If y= (1 -I-—) (1 -I-—)(l +—)--- (l +—) andx £ 0.Whenx =-1,—=
X X X X X

1 2 3 n dy
(208 y= (1+—)(1 +—)(1 +—)(1 +—).wma,x sy Lo
% ' 16 VR ;i dx

Options :

1w N

> % (n—1)!
3 @ D —1)

L (—1)"n!

Question Number : 68 Question Id : 544734388 Display Question Number : Yes Is Question
Mandatory : No

d | 14+x%

—<sin?| Cot™
1—x

dx \J/

Options :
0

1. %
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Question Number : 69 Question Id : 544734389 Display Question Number : Yes Is Question
Mandatory : No

ax — b
If v=Tan™? {—} .then yv' =
Y bx +a =
_;fax—b -
v = Tan — 0. V =
- bx +a =
Options :
1 a?

+
¢ 1+x2 a2+ b?

1
2
</1+X

1

2

i i (r:mc—b)
® bx+a

bx + a
1+ (ax—h)?2
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Question Number : 70 Question Id : 544734390 Display Question Number : Yes Is Question
Mandatory : No

If y = 4x — 6 1s a tangent to the curve _1?2 =ax* 4+ b at (3,6), then the values of a and b are

(3,6) Dotiod) 56 ¥* = ax* + b 55798 A y6,8w y = 4x — 6 w008, a MBow b ©

QenHen

Options :

Question Number : 71 Question Id : 544734391 Display Question Number : Yes Is Question
Mandatory : No

Find the positive value of ‘a” for which the equality 2« + f = 8 holds. where ‘¢’ and *f" are

the points of maximum and minimum. respectively. of the function f(x) = 2x® — 9ax? 4
12a%x + 1,

F(x) = 22° - 9ax? + 120%x + 1 Ha5r08 ‘0’ &0ai) f L0 SAT Dotk 185 20800
Doty SAQL BB, 2 + f = 8 ¥ RAFIT() B V0B ‘a’ GTE)S Jend
Options :
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Question Number : 72 Question Id : 544734392 Display Question Number : Yes Is Question
Mandatory : No

If the radius of a sphere is measured as 9 cm with an error of 0.03 cm, then find the

approximate error in calculating its surface area.

28 Bvo m&b‘gm 9 cm. € m}s&gm} E03¢0ds 0.03 om 830 &) bowd. & Ay enbde
ST (edocsctdwd Bt GarooR)T

Options :
e 2
1 ¢ 216m cm

: 2
5 % 21.6 1™ cm

- 216 T em?

: 2
4 % 0.216 m cm

Question Number : 73 Question Id : 544734393 Display Question Number : Yes Is Question
Mandatory : No
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The diameter and altitude of a right circular cone, at a certain mstant. were found to be 10 cm
and 20 cm respectively. If its diameter 1s increasing at a rate of 2 cm/s, then at what rate must

its altitude change. i order to keep its volume constant?

28 RS’ 28 vot) HTTCY FoaeY TVE), TRe SHBasw TE a0 SR
10 cm S080dw 20 om eal:’). &5 B0ae) a“g'n}bm.‘f 2Ge Bt 2 cm/s Lond, T
AANGAT D fgdnm" GotO0S TR TED) dodh Bens ﬂfdﬁ;, RolaT?

Options:

| % 4 cm/s

5 % 6 cm/s

3 % —4 cm/s

—8cm/s
4. & /

Question Number : 74 Question Id : 544734394 Display Question Number : Yes Is Question
Mandatory : No

3 sin a
— i =

V1 +cosa

Options :

—2+/2 cos (%) -+
1.+

_ a
. 2v2 cos (?) + ¢

3. %
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— o
v 2 cos (?) 0

—/2 cos (%) +c

Question Number : 75 Question Id : 544734395 Display Question Number : Yes Is Question
Mandatory : No

cosdy + 1
|

= k cos4x + c,then "k " is equal to
cotx — tanx

" cosdxy + 1 .
J =kcosdx +c,0003 "k"Densd

colx — tan x

Options :
-1

2

Question Number : 76 Question Id : 544734396 Display Question Number : Yes Is Question
Mandatory : No
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d
If J [Cos(x:)-a(cnse{:(.r}}} dy = f(x)+g(x)+c,then f(x) g(x) =

( [cos(xj -%(msec(x:)}l dx = f(x) + g(x) + c o0, &P\ f(x) - g(x) =

Options :

1w ¥ cot(x)

, % X tan(x)

3 % X cos(x)

Question Number : 77 Question Id : 544734397 Display Question Number : Yes Is Question

Mandatory : No

(2x +1)° (2x+1)‘? e P
(3x +2)° TR e e
r (2% 4¢1)° 2x + 112 P
S = p(ZE2) 4 £ wona £
(3x 4+ 2) 3x + 2 Q
Options :
1
v 7
1
2. % 7
2
3 % 7
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Question Number : 78 Question Id : 544734398 Display Question Number : Yes Is Question
Mandatory : No

dx T
If J— = — ,then the valueofa =
4+ x2 8

0

it

dx T

f—z— 90D a4 D =
4 + x2 a

0

Options :
1

1. %

Question Number : 79 Question Id : 544734399 Display Question Number : Yes Is Question
Mandatory : No

2

¥2—4
“ o

1
Options :
)

1.% 3
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Question Number : 80 Question Id : 544734400 Display Question Number : Yes Is Question
Mandatory : No

The solution of the differential equation 2x (d_) —y =4 represents a family of
X

d.
2x (d—y) —y = 4 03E0d HEEFIE 6D 5570 ERVORSNR) AP,
X

Options :

Ellipses
SoTo
QJJ —

Parabolas
T SLoire

Straight lines

3 % O Ooew

Circles
;ﬁa ee)
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Physics
Section Id : 5447348
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 81 Question Id : 544734401 Display Question Number : Yes Is Question
Mandatory : No

The displacement of a particle starting from rest at t = 0 1 given by s = 92 — 2%, The time

in seconds at which the particle will attain zero velocity 1s

£ =0 36 doi) HAE° &) w8 o S Fdgiodo s = 97 — 26° M @IRADB. NS
D 0ad0 3¢ im0 AE) o FrHI?

Options :
8s

1_%-5
9 % 65

3 % 4s

35

Question Number : 82 Question Id : 544734402 Display Question Number : Yes Is Question
Mandatory : No
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The range of a projectile 1s 100 m. Its kinetic energy will be maximum after covering a distance of:
PNEDSAD 01135[] a",sf} 100 1m . dodh GPGA0 POLFEINN BOTS T (B3S ﬁbganm Gotod?

Options:

1 % 25 m

50 m
75 m

4 100 m

Question Number : 83 Question Id : 544734403 Display Question Number : Yes Is Question
Mandatory : No

Two cars A and B are moving with a velocity of 30 kmph i the same direction. They are
separated by 10 km. The speed of another car C moving in the opposite direction, if it meets

these two cars at an interval of eight minutes is

A 258050 B 0935 B0t 5700 2.8 63" 30 kmph S6and e 0. @ 10 km
G@rdod’ Db Bobe: 637 ow. S(B0D IS Sendad) € ©d 5 & Fotd YA 8
Ddww K368 6. € w00 awng, o

Options :
1« 45 kmph

5 % 40 kmph

3 % 15 kmph
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4 % 30 kmph

Question Number : 84 Question Id : 544734404 Display Question Number : Yes Is Question

Mandatory : No

A book is lying on a table. What is the angle between the normal reaction acting on the book

on the table and the weight of the book?

28 YRSAD £82 DATeS0 WYY &) B. YD (Y PRSI ot DVt Q@ﬁm&mv’bé,
RS20 d8), TS B0 Eraciod

Options :
1. % g
> % 45°

90°
@ 180°

Question Number : 85 Question Id : 544734405 Display Question Number : Yes Is Question

Mandatory : No
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A boy throws a cricket ball from the boundary to the wicket keeper. If the frictional force due
to air (f,) cannot be ignored. the forces acting on the ball at the position X are represented by

28 EPenc) 3565 21089 3680 LaHLIN0) DEE S50 Do, o e Dﬁ&&oﬁsﬁﬁé,
X g%;‘m &')r.g AT EATICI dod 2 DS Moﬁétﬂ)&

Options :
fa
1. % W
f M
L
W
2. %
fa
3. ¢ W
fa
4, ® W

Question Number : 86 Question Id : 544734406 Display Question Number : Yes Is Question
Mandatory : No
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When a force F = 17 — 2x + 632 N acts on a body of mass 2 kg and displaces it from x =

0m to x = 8 m. the work done 1s

2kg Qa5m%‘ 59AR 2,8 D F =17-2x+ 622 N 93 w0 9 Binbisws e
SwPr=0maed x=8mS g"égoéo Woldd, 20608 DA

Options:
1. ¢ 1096 17T

2 % 2707
3 # 351

4 % 13517

Question Number : 87 Question Id : 544734407 Display Question Number : Yes Is Question

Mandatory : No

th
; 1 . o ;
A rifle bullet loses (E) of its velocity in passing through a plank. The least number of such

planks required just to stop the bullet 1s

28 8 (ot b oGS Hosrrdoriat 303 86 83 A () o Ee\awod,
09008 eTED B wtnSot) ke J) B5RG50?

Options :

1. % 5
, % 10
11

3. %
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4. v 13

Question Number : 88 Question Id : 544734408 Display Question Number : Yes Is Question

Mandatory : No

A uniform chain has a mass ‘m’ and length ‘", Tt 1s held on a frictionless table with one-sixth of its length

hanging over the edge. The work done i just pulling the hanging part back on the table is:

m Qbﬁﬂ“? 208050 ‘" Tk $9A 8 D868 Fendy &rﬁlﬁb. bln) E{Dgﬁ 9 09 SV TR Vot
TEPY' 5635 Sody 8063 Hercaeind) A. LGB gr) Sed P8 e’ B DI dods?

Options :

mgl

1.¢ 72

mgl

2 % 36

mgl
12

mgl

Question Number : 89 Question Id : 544734409 Display Question Number : Yes Is Question

Mandatory : No

AP EAPCET 2021



AP EAPCET 2021

A sphere and a hollow cylinder without slipping. roll down two separate inclined planes 4 and
B respectively. They cover same distance in a given duration. If the angle of inclination of

plane 4 1s 30°, then and the angle of nclination of plane B mwust be (approximately).

A 208030 B 93 ot D6 3 Ten derup w8 FEaw Hdatn &' Ao Z680E
B30 2. YA 5V .:15,5@93‘ 092 2,8 Ar6Sw HAIriot)ds). A SV g RN
30° eond, B & s dorr

Options :

1 % 60°

2. W’ 530
3.v 45°

4.% 37°

Question Number : 90 Question Id : 544734410 Display Question Number : Yes Is Question
Mandatory : No

Four spheres each of diameter ‘2a’ and mass *m’ are placed in a way that their centers lie on

the four corners of a square of side *b’. Moment of inertia of the system about an axis along one

of the sides of the square 15

2a” o, ‘m’ Q%ﬁ &) T A ooy b’ Zhzorm &) w8 bR T
%gu 3G G0t ). BBGR0 Fozo DO & H{IR 2SS 5D T8 ohe.?

Options :

8

— I
5

2
1. %
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4
?'mnz + 5 mb?

4
= ma? + 2 mb?
3. %

8
? ma’ + 2 mb?
4.

Question Number : 91 Question Id : 544734411 Display Question Number : Yes Is Question
Mandatory : No

If an energy of 684 I 15 needed to mcrease the speed of a fly wheel from 180 rpm to

360 rpm. then find its moment of nertia.

28 BOFOL B8 P 684 ] 5 28RN T Eriat 3640 180 rpm Ao 360 rpm §
28f0. o BES TPTR) T8 otel.?

Options :
0.7 kg.m?

1. %

: 2
5 1.28 kg.m

53 % 275 kg.m?

4 % 728 kg.m?®

Question Number : 92 Question Id : 544734412 Display Question Number : Yes Is Question
Mandatory : No
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A particle executing simple harmonic motion along a straight line with an amplitude A. attains

maximum potential energy when its displacement from mean position equals

A EoDHHBMAE 28 €nan w HEVEY Dol ::w::umez%s Bodo ﬁo.mma‘l&. 00
R Cﬁnéb .g"ééoéo wodh eﬂw:ﬁ;}jbc:o (Zln) ﬁﬁg %@e&%‘éﬁ SDR Gotod?

Options :

1.330

A
3 L

)

2. % Y

-+
=

3.¥

|+
Nl.'l:-

Question Number : 93 Question Id : 544734413 Display Question Number : Yes Is Question
Mandatory : No

The bob of a simple pendulum is a spherical hollow ball filled with water. A plugged hole near the
bottom of the oscillating bob gets suddenly unplugged. During observation, till water is conung out,

the time period of oscillation would:

w8 DSV ding) Fvan ' god ABS Jobrdde. Evme o) Fvaw dod
Boga Sobed, &5 SHTS PTAT Arahudd. K830 HAHAY’, 6 LHLL
8,968 EOT 6% SO O DXV Gotiod?

Options :

remain unchanged

| % AT 080" GokLodd

AP EAPCET 2021



AP EAPCET 2021

imncrease towards a saturation value

5 % ﬁ&‘{g SeDD DY) PDEADEL olwodd

first increase and then decrease to the original value.

D2 QBSOS AVGL) BA SdoTred eﬁ%i)@«.‘}c{?)
3. ¢

first decrease and then increase to the original value.

. D23 DeSE) DG ejﬁ ST ed DA B
4,

Question Number : 94 Question Id : 544734414 Display Question Number : Yes Is Question
Mandatory : No

The gravity potential energy is maximum at
d}meﬁs fg@%g DS&G’. riﬂ%lm@ej}e&?

Options :

Infinity

o Ardo DG
1.¢ =

the earth’s surface

Zrad &HBGH) I
2. ® o

the centre of the earth

o Soh HE
3. % &

twice the radius of the earth
Zio ;Péé“gﬂﬁ S0y Grdo HG
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Question Number : 95 Question Id : 544734415 Display Question Number : Yes Is Question
Mandatory : No

A geostationary satellite 1s taken to a new orbit such that its distance from centre of the earth is
doubled. Then find the time period of this satellite in the new orbit,

w8 PRS0 GDOF) T S50l TS Dot B0 TG0 &) HOAWS S5f 'S
Dot 28008, Bawd §8 518 od awe), B3¢ S°vo Jod?

Options :
1 % 24 hrs

5 % 4.8 hrs

482 hrs
3. %

4% 2442 hrs

Question Number : 96 Question Id : 544734416 Display Question Number : Yes Is Question

Mandatory : No

A body of mass 10 kg 1s attached to a wire of 0.3 m length. The breaking stress 1s
4.8 % 10" N.m 2. The area of cross-section from the wire is 107 m?. The maximum angular

velocity with which it can be rotated in a horizontal circle is

10 kg g0°3 o 3300 0.3 m Teked), DG Do 107 m? o) w8 S
300t 8 ED 1O el 4.8 X 107 N.m ™2 50 482 drds 3380
Fo\eRS$ o (0% Srdoth S

Options :

1 ¢ 4 rad.s™!

2. %
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8 rad.s™ !

3 % 16 rad.s™ 1

, —1
4% 32 rad.s

Question Number : 97 Question Id : 544734417 Display Question Number : Yes Is Question
Mandatory : No

A glass flask weighing 390 g. having internal volume 500 cc just floats when half of it 13

filled with water. Specific gravity of the glass 1

2020880 500 ce, G202 390 g o Tedrgd’ IS A &)yt RO A’
SBaircoded. trer a0, I3 MAS(AD

Options :
1.« 2.8

, % 18

5 % LO

Question Number : 98 Question Id : 544734418 Display Question Number : Yes Is Question
Mandatory : No

Water does not wet an oily glass because

ATD DPOHLIAD MPerdd D SEDED Dot ?
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Options :

Cohesive force of oil is greater than adhesive force between oil and glass
AP WON0RA LIVDN > AT 000K X 0E] BROBA WAL

Cohesive force of o1l is greater than cohesive force of water
AD DoRoBDd VAL > DK 902D LIBEWD

O1l repels water
R7D DGR DEBorsoo

Cohesive force of water 1s greater than adhesive force between water and oil molecules

) A 0028 LVAD > A HBALO AFD BEPHY S06] BR0RA VKD

Question Number : 99 Question Id : 544734419 Display Question Number : Yes Is Question
Mandatory : No

Boiling water 1s changing into steam. The specific heat of boiling water 1s
DHMHAD) A BT AT 6. DM A DT

Options :
Zero
RO

One
2,88

Infinity

3 ¢ e 508000
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less than one

2,88 Sobl BE).D

Question Number : 100 Question Id : 544734420 Display Question Number : Yes Is Question
Mandatory : No

If the volume of a block of metal changes by 0.12 % when heated through 20 °C . then find its
coefficient of linear expansion.

28 5T &) eggm 20 °C Doy &7 2030040 0.12 %

A8 3oBRE3, 8, T8 oragn Dewd

Options :

| w4x1075 ot

ar—k op—I
L x 4X 1074 oC

4 m—5 gr—1
3 ¢ ZX1075 °C

4 % 2XA07F BT

Question Number : 101 Question Id : 544734421 Display Question Number : Yes Is Question
Mandatory : No

Isothermal process is the graph between:
mmggé D80 D D 206y Gotnod?

Options :

Pressure and Temperature
20300 HoBokw &T'(S

1. %
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Pressure and volume
, DEDSID 2B DOIADBBIATEIAL

Volume and temperature
. 20HDHBSTP e SudodL &gﬁgﬁ

PV and Temperature

PV 208030 edlds
4, % =

Question Number : 102 Question Id : 544734422 Display Question Number : Yes Is Question
Mandatory : No

For a monoatomic ideal gas followimng the cyclic process ABCA ]

shown i the U vs p plot. identify the incorrect option:

S0 BrRdR U - p e’ w8 98 D0arw GG T

DiraodS” ABCA o HEaDR) Ardied. ©0d & §ob
TS 205G p,

Options:
; o
Molar heat capacity of the process AB 1s —

R
AB $H303085° 2rerd & A a0d 0 —
| % = ) 2

Heat 1s rejected by the system in path BC

BC Arganes’ J15%0 856 e S6R),Botsecduod
2. % . g =

3.+

AP EAPCET 2021



AP EAPCET 2021

: . .. 2R
Molar heat capacity for the process BC 1s =g

2R
BC Hgohd” rerd & 5‘;&385;113 3

2U
Work done by the system in the process €A 1s Tﬂ In4
2U
CA H305e5" ;ﬁiﬁb‘r‘g W 2000 DA CA ZTﬂln-ﬁE
4. % '

Question Number : 103 Question Id : 544734423 Display Question Number : Yes Is Question
Mandatory : No

The pressure of a gas 1s proportional to
TA30Y BE), DEDID BIS VS AT BI0S” Gota?

Options :

The sum of kinetic and potential energies
(O 3§ 20B0I0 DS FLHO ASIW

1. %

Potential energy
oS 33

2. % @

Kinetic energy

L o 0038

None of the above

:.3;53.) 57
4. %

Question Number : 104 Question Id : 544734424 Display Question Number : Yes Is Question
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AP EAPCET 2021
Mandatory : No

A string fixed at both ends vibrates m 5 loops as shown in the figure. The total number of

nodes and antinodes respectively are

H0206" BrDP AN Both v bg DAcRGD 28 & 5 am{)ué“ SoaR0od. Bowd,
Q0G0 Ry 06 DB DYeGN DotPv ".-003.}5 SB0

A,
Options:
1« 6 & 5

, % 6 &10

,x 2&5

s % 10 &6

Question Number : 105 Question Id : 544734425 Display Question Number : Yes Is Question
Mandatory : No
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The position of the direct image obtained at O, when a
monochromatic beam of light is passed through a plane
transmission grating at normal incidence is shown in figure,
The diffracted images A, B and C correspond to the first,
second and third order diffraction. When the source is replaced

by another source of shorter wavelength

28 RSV P Gorh BT 28 I8 365708
T’.Joi'::rf}f&;_‘}bda, 28DowA O :bg g)ﬁ:]dc‘ﬁ&. A. B, C e 2068,

Dotisd, aresd :mg:: RIEEALTAL IV ‘r‘mﬂc‘b@“om. 03 0O ABC
aés*t)l 2060308 By e:ﬁdor‘@gﬁ:m £DA 508 298NS
m«abd ai‘mx;;hm

Options:

all the four will shift in the direction C to O
e Dadoerren C Aol O &%65° Scensd

all the four will shift in the direction O to C
e HEDoeTen O Aol C &%e5° e

the images C, B and A will shift towards O

. » CB, A e O 2T Seoenmd

the images C, B and A will shift away from O

4 % C.B, A a0 0 Aot GIrdaunTrT S0

Question Number : 106 Question Id : 544734426 Display Question Number : Yes Is Question
Mandatory : No
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What 1s the electric flux for Gaussian surface 4 that encloses the charged particles in free
space? [Given: g; = —14nC. g, = 78.85nC. g3 = 56 n(]

B DB3306" DD S0V BHBe) &) TIoHA dwdw A 598 sod DS

T Jodd? [ gy = 14 nl. g, = 78.85nC. g3 = 56 nl]

raaho dedwn B

Options :

10° Nomz. oY
1. ¢

, % 10° C.NThm™

- 632 % 10 N.m2.¢?

4% 632 % 10° C.N"L.m™

Question Number : 107 Question Id : 544734427 Display Question Number : Yes Is Question
Mandatory : No

Two charges 8 uC each are placed at the corners A and B of an equilateral triangle of side

0.2 m 1n air. The electric potential at the third corner C 1
B0t 853770 8 1€ 287,86 " 0.2 m Doere0 G20 g, A ok B urere

3¢ GoeEraD. e ure € 6 3@55 ﬁ"ﬁg})cmﬁ Jdoth?

Options :
ZE% U
1.
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L 18%10%v

i 5
3 % 3.6 X 107 v

) w 3.6 X 10* v

Question Number : 108 Question Id : 544734428 Display Question Number : Yes Is Question
Mandatory : No

A 60 uF parallel plate capacitor whose plates are separated by 6 mm is charged to 250 V. and then
the charging source 1s removed. When a slab of dielectric constant 5 and thickness 3 mm is placed

between the plates, find the change m the potential difference across the capacitor?

60 uF QS)“?-JE»SD. DVSY ;h)c',ié 6 mm Ardan S9N w8 NAredd HusY Sranb 2501 ©
a3 Bobecs ST EJ"'SE,JB Sofosnidd. Beg ?gc‘oé;ﬁn 5, 306w 3 mm $9R a8
B g Do o‘.l)t,ﬁls GoSRGAB. 800 SFranb a0s) ﬁ“ﬂiﬁoﬁaé 630 679 Ay odd?

Options :
1 % 250V

5> 100V

L % 150V

4% 75V

Question Number : 109 Question Id : 544734429 Display Question Number : Yes Is Question
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Mandatory : No

Five current carrying conductors meet at a point P. What 1s the

magnitude and direction of the current in the fifth conductor?

4A
. 71
Dméa DDTBY 5 TPEe P ed 8 Hodiy) & 5A
SeR0d) 2. Lowd i TIPsANG’ HIired WS YT IrIw
031}5& 2B 0050 63 De)? 2A Q
Options :

l1AfromQtoP
1A, Q&0d P2

1A fromPtoQ

1 A, Pod Q 2%
L o LA P& Q20

3A fromPtoQ
3A, Pood Q 2

I3

AfromQtoP
A, Q RAood P 2

-

4. %

Question Number : 110 Question Id : 544734430 Display Question Number : Yes Is Question
Mandatory : No

A wire of length ‘L’ m carrying a current [ amp 1s bent in the form of a circle. Magnitude of
its magnetic moment is

L Do Ty, 1 eoiasg DS Hdtrand) a8 8l g6 droaws’ Somaw. vand
T 90T 08 GRS DBATHRAN Jodd?

Options:
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Question Number : 111 Question Id : 544734431 Display Question Number : Yes Is Question
Mandatory : No

What is the net force on the square coil? o _. )
BEBFTE Oif o) 5 ISE WOAN dod? 24l . s
: £
= ¥
|2 cm
Options :

25 x 1077 N moving towards wire

- 25 X 1077 N ewdnd 869 odo) &

25 % 1077 N moving away from wire

L x 25X 1077 N 210508 S6idood. drdanm 82006
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35 x 107 N moving towards wire

35 X 1077 N a)0snd 86 vdud)
3. ®

35 x 1077 N moving away from wire

, 35X 1077 N e)odnd &600c drdhum o000y 6
4.

Question Number : 112 Question Id : 544734432 Display Question Number : Yes Is Question
Mandatory : No

A paramagnetic sample showing a net magnetization of 0.8 A.m™, when placed in an
external magnetic field of strength 0.8 T. at a remperature 5 K. If the temperature is raised to

20 K. then the magnetization becomes

08T ko 08 £33006", 5 K &6 56 eioidd 28 FToah¥od Dergiw 08 4.m™
D6 LA 0B80mo trbols6. 608 20K & 2edd, vad) st

Options:

|« 08 Am™

=
5 0.2 Am

3 % 0.1 Am~1

T
4% 04 A.m

Question Number : 113 Question Id : 544734433 Display Question Number : Yes Is Question
Mandatory : No
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The induced emf cannot be produced by:
& $08 B T DS DANET VS LV ToSTH07?

Options :

Moving a magnet near a circuit
28 SVOITAS GBAGT SVOITR) SRV

Moving a circuit near a magnet
2,8 907,00 BAGTT SV SOV

Changing the current in one circuit placed near the other
w8 SVAIrAS BAST &) BAS Sewobanes” DANS DTE) HrCe

Maintaining large but constant current in a circuit
2,8 DVOHING" VHE 2BA PG DERS B E'dIAosow

Question Number : 114 Question Id : 544734434 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): When plane of coil is perpendicular to magnetic tield. magnetic flux linked

with the coil is minimum. but induced emf is zero
d¢

Reason (R): ¢ = nAB cosf and e = e
DB (A): & ot BOHI 08 TS VoL &) INET 8 oS
BRVNOT IR eﬁo‘i).i'l“boé DTN SR, 50 208 Do AT PRl

S'6ti0 (R): ¢ = ndB cosf) ndatw e =

Options :
1.¢
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Both A and R are true and R is a correct explanation for A
A SH0Bain R Gods® 2BGDAD. 08030 R 938 A § DB DdHGe

Both A and R are true but R 1s not a correct explanation for A

_ A 208030 R Godir RBADAD, O R 38 A 8 2B DdGer S

A is true, R 1s false
Ly A PBDRG, 50 R %0 5260

A 1s false. R 1s true
, o« AROT® 5= R £8a058

Question Number : 115 Question Id : 544734435 Display Question Number : Yes Is Question
Mandatory : No

A 20V AC 1s applied to a circuit consisting of a resistor and a coil with negligible resistance,

If the voltage across the resistor 1s 12 V. the voltage across the coil is

8 DB B DRy Boseh A $BAD a8 8 oty $BA &9) 8 Sualrds
20V AC D 0038005760, 80 6 Sz 12V wond dricot) s g ___

Options:
1« 16V

, % 10V

L % 8V

4% 6V
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Question Number : 116 Question Id : 544734436 Display Question Number : Yes Is Question
Mandatory : No

The electric and the magnetic fields associated with an electromagnetic wave propagating

along the Z- axis. can be represented by

6% Z-098:500 Dotidh PROBRVY) DEEAL, 08 BGoriRE RGeS DS
SBas a0 Fgro wrondA passnsw

Options:

Question Number : 117 Question Id : 544734437 Display Question Number : Yes Is Question
Mandatory : No

of a photoelectron and frequency (v) of the

The graph between the maximum speed (vm ax)

cident radiation, in photoelectric effect is correctly represented by:

508 D[S DA FEITR (18 56 v,,,,, 2B DS Do )
RGN v o o) A S5aw

Options :

1. &
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'y
Vmax
0 (e
vmﬂl’
2. % 0 v
E
eri',.?r
O Fa
3. ¢ v
r 5
U?TI-H«.T-
O Fal
4. % v

Question Number : 118 Question Id : 544734438 Display Question Number : Yes Is Question
Mandatory : No
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The angular momentum of the orbital electron is integral multiple of:
5= QUSD IS, Ee3a% bl S0 & Sobd B 08, PT0S MESIN

Options :
h

1. %
> % 2mh

h

3¢2ﬂ

4. i’ gﬂh

Question Number : 119 Question Id : 544734439 Display Question Number : Yes Is Question
Mandatory : No

Which of the following values is the correct order of nuclear density?

208 TmOE" Bods FroBS WnE), BD Ded

Options :

;% 3% 10°kg.m™3

, % 9X 10*%g.m™3

3 % 3 X 102 kg.m™3

4 2x10Ykg.m™3
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Question Number : 120 Question Id : 544734440 Display Question Number : Yes Is Question
Mandatory : No

The truth table given below corresponds to logic gate.

& 200 WD DSBS D 36, T AT ?

A B X

0 0 0

0 | | 1

1 0 1

1 1 1
Options :
1. % NAND
2.v OR
3. % AND
4 % XOR

Chemistry

Section Id : 5447349
Section Number: 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Enable Mark as Answered Mark for Review and Yes
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Clear Response:

Question Number : 121 Question Id : 544734441 Display Question Number : Yes Is Question
Mandatory : No

The number of protons. neutrons and electrons in lzC respectively are
lz{? St Terdew, Ar(ErSR0 20BA0 JVFTIV Vo] HEAT

Options :

1_¢6, 7, 6

, % 13,6, 6
3 % 6,7, 13

4 % 6,6, 13

Question Number : 122 Question Id : 544734442 Display Question Number : Yes Is Question
Mandatory : No

The masses of an electron. a proton and a neutron respectively will be in the ratio
SR, TS 080k AP(EPdw GI0"F A3
Options :

1 : 1836.15 : 1838.68
1.9

, x 1: 185615 : 1858.68

1 : 1834.15 : 1836.68
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1 : 1846.15 : 1848.68

Question Number : 123 Question Id : 544734443 Display Question Number : Yes Is Question
Mandatory : No

Match the following species with the correct number of electrons present in them:

208 v TES MY JuFdY momﬁ 28830008

Species Number of Electrons
s SOV augﬁm S
(i) Be** @ 0
Gy H* (b) 10
(i) Na' (c) 2
(iv) Mg" d) 11
(e) 4

Options:
o (i=d), Gi—e¢), (iii—b), (iv—a)

5 % (i—a), (ii—b), (ili—c), (iv—d)
3 % (i—e), (di—d), (iii—a), (iv—c)

4w i—c), (ii—a), (iii—b), (iv—d)

Question Number : 124 Question Id : 544734444 Display Question Number : Yes Is Question
Mandatory : No
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The correct order of electronegativity of carbon in various hybridization states:
DB Wos0E6E gmveﬁ" GR0) ), T6)D TS, 20 DENTTSLSS TS, 0D
S
Options:

| % SP < sp? < sp®

2 - 3
Sp > sp° > s
i - P p

sp” > sp < sp

5p = §p° < 8P

Question Number : 125 Question Id : 544734445 Display Question Number : Yes Is Question
Mandatory : No

Which of the following 1s not arranged in the correct sequence?
S0 sATree’ BT Sdvdwees” 900N RI0TT &) & DE?

Options :
MO, M,05,M0O,, M,0; — Decreasing basic nature

“ 1”0,M203,MOz, MEDE e Ed ﬁ)sa:";ﬁm.) a'ﬁjd'e.}
1.

Sc,V,Cr, Mn — Increasing number of oxidation states
. S¢V,Cr,Mn — 58566 DBV Do DA

d®,d?®, d, d* — Increasing magnetic moment

L d®,d?, d", d* — 03I 0 a0 DAMDER

AP EAPCET 2021



AP EAPCET 2021

Mn** Fe?t, Cr?*, Co?" — decreasing stability

 Mn?* Fe?*,Cr2t, Co?* — Doaqans” oo
4. ® @ o

Question Number : 126 Question Id : 544734446 Display Question Number : Yes Is Question
Mandatory : No

Which of the following statement is incoirect?

S0 T°63¢5° DA PO oWIA STW?

Options :

T13* salts are oxidizing agents.
T oderen 28868 S°65°e

Ga' salts are reducing agents.
Gat wdrren L0086 S EsTeD

Pb** salts are better oxidizing agents.
Pbh¥* wderren Sood ejé:]s&m 5657

As™® salts are better oxidizing agents.

Ast® dmen Hod) e_sé:js:&ﬁ seE5Ten

Question Number : 127 Question Id : 544734447 Display Question Number : Yes Is Question
Mandatory : No

Bond order 1s an inverse measure of

£ o6 SATegAn DS’ Soed
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Options :
bond- length

eod 80 851
1. ¢ w5

bond — angle
2065 Eeadn

bond dissociation energy

(AleT) g}t—f}h‘btf}!‘:‘r %‘%

Stability
gdejsma

Question Number : 128 Question Id : 544734448 Display Question Number : Yes Is Question
Mandatory : No

Which of the following molecule has the maximum dipole moment?

S00 RICED EVHVS” IO BBBE BIE)D NS0 DA GotR?

Options :

\ o NH;
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Question Number : 129 Question Id : 544734449 Display Question Number : Yes Is Question
Mandatory : No

Which compound among the following will have a permanent dipole moment?

808 DA YRS T B(GIT%0 $OA Golld DB?

H Cl H Cl
\C/ \C=C/’ \C/ Br—C=C—2Br
i Na w7 N ol
(iv)
(i) (i1) (iii)
Options :
(i) only
v @ argd

(ii) only
L« (i) 2ra®

(iii) only

L (i) g

(iv) only
o x (V) 378D

Question Number : 130 Question Id : 544734450 Display Question Number : Yes Is Question
Mandatory : No
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Which among the following statements is/are ncorrect regarding real gases?
(i) Their compressibility factor is never equal to unity (Z # 1).
(11) The deviations from 1deal behavior are less at low pressures and hugh temperatures.
(1i1)Intermolecular forces among gas molecules are equal to zero,
(iv) The obey Van der Waals equation. PV = nRT.

A TPV Dotiotor) §ob MALFVS” B / D) EYy?
(1) %odid hrgaw Joyds 1 & AArd 5 (Z# 1)
(if) sy ST, DS 100 36 K50, G Aol VDA B I 5N Gotraw
(111) ar0d0 e Q06| 0B VEVLTTD PR TN
(iv) PV = nRT 0% Tot6 6 »g0mamad 0 Fotad

Options :
(1). (11). (1v) only

- (1). (11). (1v) SIgd0

(11). (1v) only

, s (D). (iv) g

(11) only

L (i) S7gd

(111). (1v) only
4w (11). (1v) o

Question Number : 131 Question Id : 544734451 Display Question Number : Yes Is Question
Mandatory : No

Which among the following species doesn’t show disproportionation reaction?

DRI S éd}sm BADT ’@3&&9&‘46;3.’13 &1 &S ATDDD TS A6?
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Options :
| = Clo

clo,

clog

4 Cl0s

Question Number : 132 Question Id : 544734452 Display Question Number : Yes Is Question
Mandatory : No

An alloy of metals X and ¥ weighs 12g & contains atoms X and ¥ m the ratio of 2: 5. The
percentage of Metal X in the alloy 15 20 by mass. If the atomic mass of X is 40. what 15 the

atomic mass of metal Y,

X S000k0 ¥ 6% Fen 590 8 Do36'pan erodw 129 20800 X , ¥ d63rmipe g

2: 5. 3 Ang” X aog), ZrET A0 20. X g, DEArm) G303 40 wowd,
aog), DEXE Q::]SU"%’ oodh?

Options :

1. 64 amu

5 % 32 amu

3 % 60 amu

4% 50 amu
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Question Number : 133 Question Id : 544734453 Display Question Number : Yes Is Question
Mandatory : No

For the reaction HZO(;) — H,0 L T =100°Cand P = 1 atm. choose the correct option:

T = 100°C 3080%0 P = L atm &8) & B0 —— Hy0, ) 37623 00c dod§ ___

Options:
ﬂll'Ssysteni =0 & &Ssurmundings >0
ASye >0 & AS i, >0
1. % .
ﬁssystem >0 & ﬂSsurrmmdings <0
L Sy 70 & ASypey, <0
ﬁssystem <0 & ﬂ“Ss:_lrrr::n_n'.ll:iings >0
. AS s <0 & ASi e, >0
ElSSj.rS*J:iE.-m <0 & ﬂlSsurrr;:n_:ll'u:iings =
L x DSapp <0 & ASypon, <0

Question Number : 134 Question Id : 544734454 Display Question Number : Yes Is Question
Mandatory : No

At 60 °C. dinitrogen tetroxide is fifty percent dissociated. Find its standard free energy change

at this temperature and one atmosphere. [ Given: log 1.33 = 0.1239 |

60 °C 3¢ GRS BEPFyE 50 Fdo DOPrio Bobd esobwod. B3 egﬁg@. 28 9P 0\ahb
6o 3¢ Dare @y 388 Ardy [log1.33 =0.1239]

Options :
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=g

“ —650 J.mol
=

“ —830 J.mol

5
3 @ —790 J.mol

e
o —875 JI.mol

Question Number : 135 Question Id : 544734455 Display Question Number : Yes Is Question
Mandatory : No

The solubility of AgBr . having solubility product 5 x 107% in 0.2 M NaBr solution, equals

AgBr ) aws), ToeohT veo 5 X 10710 e90008 0.2 M. NaBr @reed’ A gBr ) g
T oEaeS

Options :

1% 2% 10710 M

- -10 ;
5 25 %110 M

.« 05M

, « 0002 M

Question Number : 136 Question Id : 544734456 Display Question Number : Yes Is Question
Mandatory : No
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Le-Chateliar’s principle is not applicable to
D036 DoHHTY) BGeD BALSD 56y

Options :

. g gy = Sl

5 ¥ FE(S] + S{E) — F&’S{S}

L x N T 3Mag) = 2NHsg)

4w Nag) ¥ O2g) = 2N0gq)

Question Number : 137 Question Id : 544734457 Display Question Number : Yes Is Question
Mandatory : No

Which of the following does not form double salts?

S0 S vewes” BLOIVM VIFTVRD SOITE BODSI &7

Options :
1 Li; 504

. Na,so,
. » K250
Rb,S0,

4, %
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Question Number : 138 Question Id : 544734458 Display Question Number : Yes Is Question
Mandatory : No

AlF; 1s soluble in HF only in the presence of KF due to formation of
KF 208085 argd. HF & AlF; 860008 57680 i‘)cﬁbdbo SO

Options:
AlH4

1. %

3_
A

3_
, o [AIF]

K[AIF,H]

Question Number : 139 Question Id : 544734459 Display Question Number : Yes Is Question
Mandatory : No

" . ; Excess of HyO :
What would be the product of following reaction SiCl, ——— ? (Major Product)

&% Hy0

SiCly ——— 7 SOE° P &) 0 D87

Options :
SiCl;(0OH)

, o Si(0H),

o x SiCL(0H),
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SiCly(no reaction)
. SiC 1,4 (e36] esoticd)

Question Number : 140 Question Id : 544734460 Display Question Number : Yes Is Question
Mandatory : No

Which among the following is not a greenhouse gas?
208 ToIVHNHVS’ AR TTI TOIVD) T A7

Options:

Nitrous oxide
DD B5E

Water vapour

56 2328

Sulphur dioxide
S

Methane

&S

Question Number : 141 Question Id : 544734461 Display Question Number : Yes Is Question
Mandatory : No
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An orgame compound of molecular formula C,H;Br, has six carbon atoms in a ring system. two non-
conjugate double bonds and two bromo groups at 1,4 positions. Then the compound is

C.H:Br, @m@‘d)éw 10 8 H0o S6)I ’faéaé%oé‘ 6t TGS SrH, '&0011)(%0956 IR Fold
Bworren ok 1,4 gu:fu 365 ot & 2 raFen B &) 8. )6 & W)Yo 28

Options :

aromatic but non-homo-cyclic
8 2708 2 o, T LA JVOLo ST

aromatic and hetero-cyclic
e58 20738 080K DB HwaD D) Fdo

homo-cyclic but not aromatic

v RerdoD deab D) ¥, =0 38 A8 5o

neither homo-cyclic nor hetero-cyclic

4 22PA03) Soe SPEL B0 Draod Swoie ST

Question Number : 142 Question Id : 544734462 Display Question Number : Yes Is Question
Mandatory : No

Using Kjeldahl's method over 1 g of a soil sample. the ammonia evolved could neutralize

25 mlof 1M H,50,. Then. the percentage of nitrogen present in the sample 1s

S o E0 08 Mod 8D 17| 8 dArT Aol BgS :agw HARr o
BODT WG ) dasr 25 ml 0 1M H,50, @mf‘&)}s&ozﬁa&. &5 08 AdrTs
6L B2 T o

Options :
- 100 %
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2 v 70%

25 %

Question Number : 143 Question Id : 544734463 Display Question Number : Yes Is Question
Mandatory : No

Which compound among the following i1s most reactive towards electrophilic reagents?

Q0§ 298 o A2 D z:ﬁcr’?g%e.}@ 20680t R0 ¥o & 0B TOS" DB?

Options :
CHy
CHy
1. %
OCH,
CH,OH
2. %
CHy
OH
3.¥
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NHCOCH,

CH,

Question Number : 144 Question Id : 544734464 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is not explained by hyperconjugation?

98 Roo3) 0 BT DHHEBo SIA Sod T°¢3e5" DD?

Options :

stability order of carbanions

sﬂéaﬁ)oﬁr{g f'-::dej& S350
1. ¢ ®

stability order of free radicals
DETY FODESL VOS] A0
[

stability order of carbocations
sﬂﬁa?mwmu i{gdeﬁg €250

stability of alkenes
u%mv gc:sej_smo

Question Number : 145 Question Id : 544734465 Display Question Number : Yes Is Question
Mandatory : No
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In the face centered unit cell. the lattice points are present at

HOT Zohd AW crAE S &, s Dot Ko HAFAL

Options :

only the corners of the unit cell
O30 e e5 Sureees”

the corners and the center of the unit cell
Q32 e5 e Surreen Judoin Q06 Dotdod) 26

the corners and the face centres of the unit cell
Sarreren Sodoku DS Soddw 26

only the face centres of the unit cell
DOS Solrw 26

Question Number : 146 Question Id : 544734466 Display Question Number : Yes Is Question
Mandatory : No
If the Ky values for Argy . C0, @ CHO g and CH, @ respectively are 40.39. 1.67.

1.83 x 107" and 0.413. then identify the correct increasing order of their solubilities.

Arig) . COy, . HCHO ) 308080 CH,, © 0008y Ky Denden S60re 40.39. 167,

(g) (g)
1.83 X 107 s0Basn 0.413 wand. o6 gradabde s8irn S4rd) Mo,

Options :
1% HCHO < CHy < GOy < Ar

, » HCHO < €O, < CH, < Ar
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3 % Ar < €0, <« HCHO < CH,

4 o Ar < €0, < CHy < HCHO

Question Number : 147 Question Id : 544734467 Display Question Number : Yes Is Question
Mandatory : No

If 500 m! of CaCl, solution contains 3.01 X 10%? chloride ions. molarity of the solution will be

500 ml CaCl, grdmod’ 3.01 x 102 §5& easriid £ ol mramsn Arerdd

Options :

1 ¢ 0.05 M

, % 0.01M

01M

4 % 0.02M

Question Number : 148 Question Id : 544734468 Display Question Number : Yes Is Question
Mandatory : No

Which statement among the following is incorrect?

208 DIDT VS’ D& S ?

Options:

Unit of rate of disappearance is M s+
- DO So3raHss T Havrrren M st
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Unit of rate of reaction is M s~ 1

TSO] B DATEFLO M s Sdey

Unit of rate constant k depends upon order of reaction

) O] SAT0SD0D dew f'gu'*os:m DATRAL k @0 HE Sotoa
3.

Unit of rate constant k for a first order reaction is M s~1

) o BB S8 SO DATED M 5T

Question Number : 149 Question Id : 544734469 Display Question Number : Yes Is Question
Mandatory : No

For zero order reaction, a plot of t; 7, versus [A], will be
AP S08 WL 17, H0BA [4], 2 o RoR0GT) Aot B HAW

Options :

A straight line passing through the origin and slope=K
. K Ted surw Voo oo J'ah DOV S

A horizontal line (parallel to x - axis)
X S DAToBE O

A straight line with slope -K

- K orend LY 8

: : : - 1
A straight line passing through origin and slope = ==

é TS dure Dot Troe Jad DOV G
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Question Number : 150 Question Id : 544734470 Display Question Number : Yes Is Question
Mandatory : No

If hydrogen electrons dipped in two solutions of pH= 3 and pH = 6 are connected by a salt

bridge. the emf of the resulting cell is

PH =3 20000 pH = 6 (0 Tocd mrayeme) §°D8 &2 J0E v Aol vde T6E
TIEFOR) B0 oW™ DO AL cg) Smﬁmbvs 200

Options :

1 ¢ 0177V

, % 03V

5 % 0.052V

4 % 0104V

Question Number : 151 Question Id : 544734471 Display Question Number : Yes Is Question
Mandatory : No

In an adsorption experiment, a graph between log(x/m) versus log P was found to be linear
with a slope of 45°. The intercept on log(x/m) axis was found to be 0.3010, The amount of

gas adsorbed per gram of charcoal under a pressure of 0.5 atm is

28 0BT 0D HAIrEaws’ log(x/m), log P © oworrd) 3dak 8 D 45° Tewd
BRADT &oB. log(x/m) LW P BoBS Pokasw 0.3010, 0.5 atm DB 3¢ 2
T 68’5 2 AT Qe Bod 08 HOATHAL

Options:
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Question Number : 152 Question Id : 544734472 Display Question Number : Yes Is Question
Mandatory : No

The correct order of Sulphur oxygen bond order in S05, 5,02 and SOZ are
S05,5,03 208050 S0Z~ & 28 D6 ?3%3355 2o SArosan 36
Options :

SHE~ . S.02 &80,

) SO} <505 < S5,05

4w 52037 <S0; < 50§

Question Number : 153 Question Id : 544734473 Display Question Number : Yes Is Question
Mandatory : No
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Potassium cyamde 1s made alkaline with NaOH and boiled with thiosulphate 1ons. The solution s
cooled and acidified with HC! and this solution with iron (IIT) chloride produces

Teracio RODRE NaOH & OIS B9, éoﬁr‘&nﬁjﬁ e0irw fV o $90
200fomrdo. &8 Ty $erdy HCI & edahosin 3% 263 I §06 & sonm 0

Options:
Prussian blue colour solution

. QP00 81T Gord Trdeadn

ot

Blood red colour solution

, o G5 DY Gorh Grdeaz

Dark brown colour solution
- SDEE G2 Gord Eraedw

Green colour solution

4% 838308y Gofh &rdeadn

Question Number : 154 Question Id : 544734474 Display Question Number : Yes Is Question
Mandatory : No

Which among the following 1s colored?
308 Noasers’ e Sorid :Jm“'g:.m

Options :
1 % Cucl

2 % SCCEE

3 ¢ CuCl,
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4 » TiCly

Question Number : 155 Question Id : 544734475 Display Question Number : Yes Is Question
Mandatory : No

Which of the following complexes formed by Nickel 1s tetrahedral and paramagnetic?

&b &) DBS Rodi) ) FTOS’ BB 8BS Aol FT WO 0d ¢d A B
&) 8 28?

Options :

e IVICEN)D
L INi(CO)]

3 o INI(CDLI*

y [Nf (Nﬁa)ﬁ] e
4. %

Question Number : 156 Question Id : 544734476 Display Question Number : Yes Is Question
Mandatory : No

Vitamin B is

DS B,

Options :
Riboflavin
0e5’ DD

1. %
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Cobalamin

Eeroddd
2. -

Thiamine
3 ¢ BO3T DR

Pyridoxine

:.36&5’%35

4. %

Question Number : 157 Question Id : 544734477 Display Question Number : Yes Is Question
Mandatory : No

Identify the product of the following reaction.

BHD TPDD BSOS &S D)o DB?
CH= CH—CH,4

HBr

W
~J

Options :

C;.,Hr.;_{:nz'_‘{i:['] — CHE

| % Br

Cﬁ HE_ {:I_[ _Cl'lz“_'" CH:.}

2. ¢ Br
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3 % C6H5_' CHZ_ EH"!_ CHR_B['

4% Br

Question Number : 158 Question Id : 544734478 Display Question Number : Yes Is Question
Mandatory : No

The correct order of acidic strength among the following is

BLD &y S2050065° 35 erered 3dak Batn BB Sl

Options :

FCH,CO,H > C¢H:CO,H > CH3CH,CHCICO,H > CH3;CO,H

1. %

CeH:CO,H > CH3CO,H > CH,CH,CHCICO,H > FCH,CO,H

. » CHsCH,CHCICOH > FCH,COH > CH;CO,H > CoHsCOoH

4 FCHy,CO,H > CH3CH,CHCICO,H > CeHsCO,H > CH3CO,H

Question Number : 159 Question Id : 544734479 Display Question Number : Yes Is Question
Mandatory : No
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Identify the major product of the following reaction:
808 B50(S° DG VED &S D)0 DE?

OCH,4

H, S0,

HNO,

W
~J

Options :

0CH,

(-

1. % NG,
OCH,
5 NO,
OCH,
‘/ND?
3. %
[::::],HGZ
4, %

Question Number : 160 Question Id : 544734480 Display Question Number : Yes Is Question
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Mandatory : No

Identify (Z) in the following reaction:
oee NaOH

LiAlH, Cu , dil. NaOH

CH000H ———— (X)) —————» [{) —— ()

573K
D oy’ Z

Options :
Aldol

esered
1.+ &

Ketol
- dee5

Acetol

_— DreTred

Butanol

w&é&aﬂﬁ
4, %
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